

## **Summary of Bids Received**

Project: Deerfield Parkway at Barclay Boulevard Traffic Signal Installation

Section: 22-00248-04-TL

**CPMS Pin:** 22-03

Let Date:

September 09, 2025

Description:

New Traffic Signals at Deerfield Parkway and Barclay Boulevard

Bidder	Address	City, State, Zip	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Home Towne Electric			\$1,876,168.90	33.00%	\$465,522.05
		Engineer's Estimate:	\$1,410,646.85		



## **Return Bid Tabulation**

CPMS Pin:

22-03

Project: Deerfield Parkway at Barclay Boulevard Traffic Signal Installation

 Section:
 22-00248-04-TL
 Let Date:
 September 09, 2025

New Traffic Signals at Deerfield Parkway and Barclay Boulevard

Item No.	Pay Code	Description	Quantity	Unit	Eng Uni	t Price	Home Towne Electric		
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	49.0	UNIT	\$45.00	\$2,205.00	\$77.00	\$3,773.00	
2	20101100	TREE TRUNK PROTECTION	4.0	EACH	\$150.00	\$600.00	\$220.00	\$880.00	
3	20101200	TREE ROOT PRUNING	4.0	EACH	\$150.00	\$600.00	\$275.00	\$1,100.00	
4	20200100	EARTH EXCAVATION	176.0	CU YD	\$70.00	\$12,320.00	\$22.00	\$3,872.00	
5	20400800	FURNISHED EXCAVATION	10.0	CU YD	\$50.00	\$500.00	\$22.00	\$220.00	
6	20800150	TRENCH BACKFILL	43.0	CU YD	\$75.00	\$3,225.00	\$71.20	\$3,061.60	
7	21101615	TOPSOIL FURNISH AND PLACE, 4"	118.0	SQ YD	\$10.00	\$1,180.00	\$17.60	\$2,076.80	
8	21101685	TOPSOIL FURNISH AND PLACE, 24"	735.0	SQ YD	\$30.00	\$22,050.00	\$45.10	\$33,148.50	
9	21301052	EXPLORATION TRENCH 52" DEPTH	200.0	FOOT	\$50.00	\$10,000.00	\$55.00	\$11,000.00	
10	25000400	NITROGEN FERTILIZER NUTRIENT	11.0	POUND	\$5.00	\$55.00	\$3.30	\$36.30	
11	25000600	POTASSIUM FERTILIZER NUTRIENT	11.0	POUND	\$5.00	\$55.00	\$3.30	\$36.30	
12	25200110	SODDING, SALT TOLERANT	853.0	SQ YD	\$13.00	\$11,089.00	\$19.80	\$16,889.40	
13	25200200	SUPPLEMENTAL WATERING	27.0	UNIT	\$10.00	\$270.00	\$28.00	\$756.00	
14	28000250	TEMPORARY EROSION CONTROL SEEDING	18.0	POUND	\$7.00	\$126.00	\$6.60	\$118.80	
15	28000400	PERIMETER EROSION BARRIER	79.0	FOOT	\$5.00	\$395.00	\$6.60	\$521.40	
16	28000510	INLET FILTERS	17.0	EACH	\$175.00	\$2,975.00	\$248.00	\$4,216.00	
17	28001100	TEMPORARY EROSION CONTROL BLANKET	853.0	SQ YD	\$1.50	\$1,279.50	\$1.70	\$1,450.10	
18	35101600	AGGREGATE BASE COURSE, TYPE B 4"	774.0	SQ YD	\$12.00	\$9,288.00	\$8.20	\$6,346.80	
19	42000500	PORTLAND CEMENT CONCRETE PAVEMENT 10"	54.0	SQ YD	\$200.00	\$10,800.00	\$177.70	\$9,595.80	
20	42001300	PROTECTIVE COAT	571.0	SQ YD	\$2.50	\$1,427.50	\$0.10	\$57.10	
21	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,517.0	SQ FT	\$15.00	\$22,755.00	\$15.80	\$23,968.60	
22	42400410	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH	265.0	SQ FT	\$20.00	\$5,300.00	\$18.00	\$4,770.00	
23	42400800	DETECTABLE WARNINGS	140.0	SQ FT	\$40.00	\$5,600.00	\$44.00	\$6,160.00	
24	44000100	PAVEMENT REMOVAL	575.0	SQ YD	\$30.00	\$17,250.00	\$22.00	\$12,650.00	
25	44000500	COMBINATION CURB AND GUTTER REMOVAL	690.0	FOOT	\$13.00	\$8,970.00	\$16.50	\$11,385.00	
26	44000600	SIDEWALK REMOVAL	1,471.0	SQ FT	\$3.00	\$4,413.00	\$2.20	\$3,236.20	
27	44003100	MEDIAN REMOVAL	858.0	SQ FT	\$5.00	\$4,290.00	\$16.50	\$14,157.00	
28	44200966	CLASS B PATCHES, TYPE I, 10 INCH	24.0	SQ YD	\$250.00	\$6,000.00	\$871.20	\$20,908.80	
29	44200976	CLASS B PATCHES, TYPE IV, 10 INCH	159.0	SQ YD	\$210.00	\$33,390.00	\$522.50	\$83,077.50	
30	44201299	DOWEL BARS 1 1/2"	430.0	EACH	\$35.00	\$15,050.00	\$1.00	\$430.00	
31	44213208	TIE BARS 1 1/4"	430.0	EACH	\$20.00	\$8,600.00	\$1.00	\$430.00	
32	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	198.0	FOOT	\$80.00	\$15,840.00	\$251.00	\$49,698.00	
33	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	14.0	FOOT	\$85.00	\$1,190.00	\$262.80	\$3,679.20	
34	55100500	STORM SEWER REMOVAL 12"	45.0	FOOT	\$25.00	\$1,125.00	\$27.50	\$1,237.50	
35	55100700	STORM SEWER REMOVAL 15"	8.0	FOOT	\$30.00	\$240.00	\$27.50	\$220.00	
36	60100905	PIPE DRAINS 4"	25.0	FOOT	\$25.00	\$625.00	\$95.70	\$2,392.50	
37	60100915	PIPE DRAINS 6"	25.0	FOOT	\$30.00	\$750.00	\$98.30	\$2,457.50	
38	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	500.0	FOOT	\$20.00	\$10,000.00	\$96.80	\$48,400.00	
39	60207915	CATCH BASINS, TYPE C, TYPE 11V FRAME AND GRATE	6.0	EACH	\$2,750.00	\$16,500.00	\$5,500.00	\$33,000.00	

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit	Price	Home Towne Electric		
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	
40	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	5.0	EACH	\$4,500.00	\$22,500.00	\$4,400.00	\$22,000.00	
41	60260400	INLETS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$1,750.00	\$1,750.00	\$1,100.00	\$1,100.00	
42	60500060	REMOVING INLETS	4.0	EACH	\$600.00	\$2,400.00	\$550.00	\$2,200.00	
43	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,096.0	FOOT	\$40.00	\$43,840.00	\$143.10	\$156,837.60	
44	60605400	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	169.0	FOOT	¢45.00	\$7,605.00	¢151.00	¢25 674 46	
44	60605100 60619600	CONCRETE MEDIAN, TYPE SB-6.12	66.0	SQ FT	\$45.00	\$2,310.00	\$151.90 \$145.80	\$25,671.10	
45 46	66900200	NON-SPECIAL WASTE DISPOSAL	261.0	CU YD	\$35.00 \$85.00	\$2,310.00	\$214.50	\$9,622.80 \$55,984.50	
47	66900530	SOIL DISPOSAL ANALYSIS	2.0	EACH	\$1,800.00	\$3,600.00	\$1,595.00	\$3,190.00	
48	66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	1.0	L SUM	\$4,000.00	\$4,000.00	\$4,730.00	\$4,730.00	
49	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$2,000.00	\$2,000.00	\$1,980.00	\$4,730.00	
50	66901006	REGULATED SUBSTANCES MONITORING	30.0	CAL DA	\$800.00	\$24,000.00	\$1,210.00	\$36,300.00	
51	67100100	MOBILIZATION	1.0	L SUM	\$85,000.00	\$85,000.00	\$1,210.00	\$122,480.00	
52	70107025	CHANGEABLE MESSAGE SIGN	280.0	CAL DA	\$35.00	\$9,800.00	\$66.00	\$18,480.00	
53	72400100	REMOVE SIGN PANEL ASSEMBLY - TYPE A	6.0	EACH	\$100.00	\$600.00	\$28.00	\$168.00	
54	72400200	REMOVE SIGN PANEL ASSEMBLY - TYPE B	3.0	EACH	\$125.00	\$375.00	\$33.00	\$99.00	
55	72400600	RELOCATE SIGN PANEL ASSEMBLY - TYPE B	2.0	EACH	\$275.00	\$550.00	\$317.00	\$634.00	
56	72400710	RELOCATE SIGN PANEL - TYPE 1	40.0	SQ FT	\$200.00	\$8,000.00	\$34.10	\$1,364.00	
57	73100100	BASE FOR TELESCOPING STEEL SIGN SUPPORT	2.0	EACH	\$200.00	\$400.00	\$204.00	\$408.00	
01	70100100		2.0	27.011	Ψ200.00	Ψ100.00	Ç204.00	Ç-100.00	
58	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	21.0	SQ FT	\$25.00	\$525.00	\$115.50	\$2,425.50	
59	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	32.0	FOOT	\$3.25	\$104.00	\$77.00	\$2,464.00	
60	78004620	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD - LINE 4"	1,131.0	FOOT	\$4.50	\$5,089.50	\$8.80	\$9,952.80	
61	78004630	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD - LINE 6"	155.0	FOOT	\$5.00	\$775.00	\$13.20	\$2,046.00	
62	78004635	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD - LINE 7" PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD -	20.0	FOOT	\$6.50	\$130.00	\$16.50	\$330.00	
63	78004645	LINE 9"	57.0	FOOT	\$8.00	\$456.00	\$30.80	\$1,755.60	
64	78006164	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 18"	646.0	FOOT	\$10.00	\$6,460.00	\$38.50	\$24,871.00	
65	78006180	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 24" MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND	75.0	FOOT	\$15.00	\$1,125.00	\$55.00	\$4,125.00	
66	78009000	SYMBOLS	16.0	SQ FT	\$30.00	\$480.00	\$132.00	\$2,112.00	
67	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	54.0	FOOT	\$20.00	\$1,080.00	\$22.00	\$1,188.00	
68	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	2.0	FOOT	\$10.00	\$20.00	\$33.00	\$66.00	
69	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	22.0	FOOT	\$8.00	\$176.00	\$66.00	\$1,452.00	
70	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	24.0	FOOT	\$30.00	\$720.00	\$132.00	\$3,168.00	
71	78011040	GROOVING FOR RECESSED PAVEMENT MARKING 8"	20.0	FOOT	\$1.00	\$20.00	\$2.20	\$44.00	
72	78011050	GROOVING FOR RECESSED PAVEMENT MARKING 10"	57.0	FOOT	\$1.25	\$71.25	\$3.30	\$188.10	
73	78011095	GROOVING FOR RECESSED PAVEMENT MARKING 19"	646.0	FOOT	\$2.00	\$1,292.00	\$13.80	\$8,914.80	
74	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	246.0	SQ FT	\$5.00	\$1,230.00	\$16.50	\$4,059.00	
75	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	4,487.0	FOOT	\$30.00	\$134,610.00	\$34.20	\$153,455.40	
76	81028210	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	120.0	FOOT	\$60.00	\$7,200.00	\$50.50	\$6,060.00	
77	81028230	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3 1/2" DIA.	99.0	FOOT	\$70.00	\$6,930.00	\$53.70	\$5,316.30	
78	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	495.0	FOOT	\$80.00	\$39,600.00	\$109.00	\$53,955.00	
79	81028350	UNDERGROUND CONDUIT, PVC, 2" DIA.	50.0	FOOT	\$18.00	\$900.00	\$17.50	\$875.00	
80	81400100	HANDHOLE	10.0	EACH	\$4,300.00	\$43,000.00	\$3,253.00	\$32,530.00	
81	81400300	DOUBLE HANDHOLE	2.0	EACH	\$7,000.00	\$14,000.00	\$5,123.00	\$10,246.00	
82	81702110	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 10	1,838.0	FOOT	\$5.00	\$9,190.00	\$1.70	\$3,124.60	

ltem No.	Pay Code	Description	Quantity	Unit	Eng Uni		Home Town	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
83	81702130	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 6	899.0	FOOT	\$2.00	\$1,798.00	\$2.70	\$2,427.30
84	81702140	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 4	3,072.0	FOOT	\$3.50	\$10,752.00	\$3.80	\$11,673.60
85	82110007	LUMINAIRE, LED, ROADWAY, OUTPUT DESIGNATION G	4.0	EACH	\$750.00	\$3,000.00	\$1,044.30	\$4,177.20
86	84200500	REMOVAL OF LIGHTING UNIT, SALVAGE	3.0	EACH	\$900.00	\$2,700.00	\$720.00	\$2,160.00
87	84200804	REMOVAL OF POLE FOUNDATION	3.0	EACH	\$750.00	\$2,250.00	\$360.00	\$1,080.00
88	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	3.0	EACH	\$7,000.00	\$21,000.00	\$5,760.00	\$17,280.00
89	87300925	ELECTRIC CABLE IN CONDUIT, TRACER, NO. 14 1C	5,411.0	FOOT	\$2.50	\$13,527.50	\$1.00	\$5,411.00
90	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	2,224.0	FOOT	\$2.90	\$6,449.60	\$1.90	\$4,225.60
91	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,819.0	FOOT	\$3.00	\$5,457.00	\$2.20	\$4,001.80
92	87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	1,350.0	FOOT	\$3.50	\$4,725.00	\$2.60	\$3,510.00
93	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	1,659.0	FOOT	\$4.00	\$6,636.00	\$3.30	\$5,474.70
94	87301805	ELECTRIC CABLE IN CONDUIT, SERVICE, NO. 6 2 C	259.0	FOOT	\$12.00	\$3,108.00	\$5.70	\$1,476.30
		ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING			,	,		. ,
95	87301900	CONDUCTOR, NO. 6 1C	1,091.0	FOOT	\$8.00	\$8,728.00	\$3.00	\$3,273.00
96	87800100	CONCRETE FOUNDATION, TYPE A	28.0	FOOT	\$400.00	\$11,200.00	\$367.80	\$10,298.40
97	87800150	CONCRETE FOUNDATION, TYPE C	4.0	FOOT	\$1,400.00	\$5,600.00	\$984.50	\$3,938.00
98	87800415	CONCRETE FOUNDATION, TYPE E 36-INCH DIAMETER	45.0	FOOT	\$500.00	\$22,500.00	\$442.50	\$19,912.50
99	87800420	CONCRETE FOUNDATION, TYPE E 42-INCH DIAMETER	21.0	FOOT	\$700.00	\$14,700.00	\$651.30	\$13,677.30
100	87900200	DRILL EXISTING HANDHOLE	2.0	EACH	\$800.00	\$1,600.00	\$1,097.00	\$2,194.00
101	88030020	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST-ARM MOUNTED	6.0	EACH	\$1,250.00	\$7,500.00	\$1,109.00	\$6,654.00
102	88030100	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED	4.0	EACH	\$1,600.00	\$6,400.00	\$1,485.00	\$5,940.00
103	88030110	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST-ARM MOUNTED	4.0	EACH	\$1,700.00	\$6,800.00	\$1,601.00	\$6,404.00
		PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED			, ,	. ,	, ,	. ,
104	88102717	WITH COUNTDOWN TIMER	8.0	EACH	\$900.00	\$7,200.00	\$696.00	\$5,568.00
105	88200410	TRAFFIC SIGNAL BACKPLATE, LOUVERED, FORMED PLASTIC	10.0	EACH	\$300.00	\$3,000.00	\$445.00	\$4,450.00
106	88700200	LIGHT DETECTOR	2.0	EACH	\$1,800.00	\$3,600.00	\$2,093.00	\$4,186.00
107	88700300	LIGHT DETECTOR AMPLIFIER	1.0	EACH	\$3,500.00	\$3,500.00	\$4,337.00	\$4,337.00
108	89502300	REMOVE ELECTRIC CABLE FROM CONDUIT	5,497.0	FOOT	\$1.00	\$5,497.00	\$0.70	\$3,847.90
109	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.0	EACH	\$1,000.00	\$1,000.00	\$2,880.00	\$2,880.00
110	LC200051	REJECTED LOAD TRANSPORTATION	1.0	LOAD	\$300.00	\$300.00	\$2,092.50	\$2,092.50
111	LC200200	TREE, SPECIAL	10.0	EACH	\$850.00	\$8,500.00	\$1,045.00	\$10,450.00
112	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	4,398.0	UNIT	\$1.00	\$4,398.00	\$1.00	\$4,398.00
113	LC400182	DIAMOND GRINDING CONCRETE PAVEMENT	1,335.0	SQ YD	\$30.00	\$40,050.00	\$13.20	\$17,622.00
114	LC600032	AREA DRAIN TO BE ADJUSTED	1.0	EACH	\$250.00	\$250.00	\$1,100.00	\$1,100.00
115	LC782001	GROOVING FOR RECESSED PAVEMENT MARKING 31"	75.0	FOOT	\$3.00	\$225.00	\$27.50	\$2,062.50
116	LC800562	FIBER OPTIC PATCH PANEL	4.0	EACH	\$2,500.00	\$10,000.00	\$2,018.00	\$8,072.00
	2000002	PRE-TERMINATED FIBER OPTIC CABLE IN CONDUIT, 12 FIBERS,		27.0	<b>\$2,000.00</b>	ψ.ο,σσσ.σσ	ψ2,020.00	ψο,σ, Σ.σο
117	LC800625	SINGLE MODE	162.0	FOOT	\$15.00	\$2,430.00	\$36.50	\$5,913.00
118	LC800703	ACCESSIBLE PEDESTRIAN SIGNALS (LCDOT)	8.0	EACH	\$2,100.00	\$16,800.00	\$2,733.00	\$21,864.00
		SMALL FORM PLUGGABLE (SFP) FIBER OPTIC TRANSCEIVER						
119	LC800810	MODULE, 100MB	1.0	EACH	\$6,000.00	\$6,000.00	\$1,999.00	\$1,999.00
		EMERGENCY VEHICLE PRIORITY SYSTEM LINE SENSOR CABLE, NO.						
120	X0324085	20 3/C	350.0	FOOT	\$3.00	\$1,050.00	\$1.50	\$525.00
121	X0324599	ROD AND CLEAN EXISTING CONDUIT	500.0	FOOT	\$2.00	\$1,000.00	\$0.20	\$100.00
122	X0327698	LED INTERNALLY ILLUMINATED STREET NAME SIGN	4.0	EACH	\$5,000.00	\$20,000.00	\$5,196.00	\$20,784.00
123	X1400007	FIBER OPTIC CABLE IN CONDUIT, 24 FIBERS, SINGLE MODE	6,183.0	FOOT	\$4.00	\$24,732.00	\$5.20	\$32,151.60
124	X1400102	OUTDOOR RATED NETWORK CABLE	87.0	FOOT	\$6.00	\$522.00	\$4.70	\$408.90
125	X1400150	SERVICE INSTALLATION, GROUND MOUNTED, METERED	1.0	EACH	\$5,000.00	\$5,000.00	\$5,295.00	\$5,295.00
126	X1400215	REMOTE CONTROLLED VIDEO SYSTEM	1.0	EACH	\$8,000.00	\$8,000.00	\$5,372.00	\$5,372.00
127	X1400216	LAYER II (DATALINK) SWITCH	1.0	EACH	\$6,000.00	\$6,000.00	\$5,256.00	\$5,256.00
128	X2070304	POROUS GRANULAR EMBANKMENT (SPECIAL)	10.0	CU YD	\$50.00	\$500.00	\$143.90	\$1,439.00

Item No.	Pay Code	Description	Quantity	Unit	Eng Uni	Eng Unit Price		ne Electric
					Unit Price	Extnd. Price	Unit Price	Extnd. Price
129	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$45,000.00	\$45,000.00	\$25,000.00	\$25,000.00
130	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	3.0	EACH	\$100.00	\$300.00	\$2,200.00	\$6,600.00
131	X8570226	FULL-ACTUATED CONTROLLER AND TYPE IV CABINET (SPECIAL)	1.0	EACH	\$35,000.00	\$35,000.00	\$31,129.00	\$31,129.00
132	X8620250	UNINTERRUPTABLE POWER SUPPLY AND CABINET (SPECIAL)	1.0	EACH	\$9,000.00	\$9,000.00	\$9,245.00	\$9,245.00
133	X8710072	FIBER OPTIC SPLICE ENCLOSURE	4.0	EACH	\$1,500.00	\$6,000.00	\$2,224.00	\$8,896.00
134	X8750510	TRAFFIC SIGNAL POST, 10 FOOT, (SPECIAL)	3.0	EACH	\$2,500.00	\$7,500.00	\$4,118.00	\$12,354.00
		STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 42 FT.						
135	X8770135	(SPECIAL)	1.0	EACH	\$23,500.00	\$23,500.00	\$42,811.00	\$42,811.00
		STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 44 FT.				****	4	4
136	X8770139	(SPECIAL) STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 58 FT.	1.0	EACH	\$24,000.00	\$24,000.00	\$45,666.00	\$45,666.00
137	X8770158	(SPECIAL)	1.0	EACH	\$24.500.00	\$24,500.00	\$66,906.00	\$66,906.00
137	X0110130	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 40 FT.	1.0	EACH	\$24,500.00	\$24,500.00	\$66,906.00	\$66,906.00
138	X8772930	(SPECIAL)	1.0	EACH	\$30,000.00	\$30,000.00	\$45,691.00	\$45,691.00
139	X8809005	LED SIGNAL FACE, LENS COVER	14.0	EACH	\$400.00	\$5,600.00	\$502.00	\$7,028.00
140	XX005723	VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	1.0	EACH	\$40,000.00	\$40,000.00	\$29,003.00	\$29,003.00
141	XX005931	TRAFFIC SIGNAL POST, 16 FOOT, (SPECIAL)	3.0	EACH	\$3,000.00	\$9,000.00	\$4,524.00	\$13,572.00
142	XX007092	RECESSED REFLECTIVE PAVMENT MARKER REMOVAL	2.0	EACH	\$75.00	\$150.00	\$110.00	\$220.00
143	Z0018911	DRILL AND GROUT #6 TIE BARS	459.0	EACH	\$15.00	\$6,885.00	\$1.00	\$459.00
144	Z0033028	MAINTENANCE OF LIGHTING SYSTEM	8.0	CAL MO	\$1,000.00	\$8,000.00		\$1,440.00
145	Z0033046	RE-OPTIMIZE TRAFFIC SIGNAL SYSTEM LEVEL 2	1.0	EACH	\$5,000.00	\$5,000.00	\$2,180.00	\$2,180.00
146	Z0055905	TEMPORARY CONSTRUCTION FENCE	200.0	FOOT	\$4.00	\$800.00	\$6.10	\$1,220.00
					Total	\$1,410,646.85		\$1,876,168.90



## **Return Bid Details**

CPMS Pin:

Let Date:

22-03

September 09, 2025

Project: Deerfield Parkway at Barclay Boulevard Traffic Signal Installation

Section: 22-00248-04-TL

New Traffic Signals at Deerfield Parkway and Barclay Boulevard

Description:

Item No.	Pay Code	Description	Quantity	Unit	Eng Uni	t Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price Extnd. Price				-
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	49.0	UNIT	\$45.00	\$2,205.00	\$77.00	\$77.00	\$77.00
2	20101100	TREE TRUNK PROTECTION	4.0	EACH	\$150.00	\$600.00	\$220.00	\$220.00	\$220.00
3	20101200	TREE ROOT PRUNING	4.0	EACH	\$150.00	\$600.00	\$275.00	\$275.00	\$275.00
4	20200100	EARTH EXCAVATION	176.0	CU YD	\$70.00	\$12,320.00	\$22.00	\$22.00	\$22.00
5	20400800	FURNISHED EXCAVATION	10.0	CU YD	\$50.00	\$500.00	\$22.00	\$22.00	\$22.00
6	20800150	TRENCH BACKFILL	43.0	CU YD	\$75.00	\$3,225.00	\$71.20	\$71.20	\$71.20
7	21101615	TOPSOIL FURNISH AND PLACE, 4"	118.0	SQ YD	\$10.00	\$1,180.00	\$17.60	\$17.60	\$17.60
8	21101685	TOPSOIL FURNISH AND PLACE, 24"	735.0	SQ YD	\$30.00	\$22,050.00	\$45.10	\$45.10	\$45.10
9	21301052	EXPLORATION TRENCH 52" DEPTH	200.0	FOOT	\$50.00	\$10,000.00	\$55.00	\$55.00	\$55.00
10	25000400	NITROGEN FERTILIZER NUTRIENT	11.0	POUND	\$5.00	\$55.00	\$3.30	\$3.30	\$3.30
11	25000600	POTASSIUM FERTILIZER NUTRIENT	11.0	POUND	\$5.00	\$55.00	\$3.30	\$3.30	\$3.30
12	25200110	SODDING, SALT TOLERANT	853.0	SQ YD	\$13.00	\$11,089.00	\$19.80	\$19.80	\$19.80
13	25200200	SUPPLEMENTAL WATERING	27.0	UNIT	\$10.00	\$270.00	\$28.00	\$28.00	\$28.00
14	28000250	TEMPORARY EROSION CONTROL SEEDING	18.0	POUND	\$7.00	\$126.00	\$6.60	\$6.60	\$6.60
15	28000400	PERIMETER EROSION BARRIER	79.0	FOOT	\$5.00	\$395.00	\$6.60	\$6.60	\$6.60
16	28000510	INLET FILTERS	17.0	EACH	\$175.00	\$2,975.00	\$248.00	\$248.00	\$248.00
17	28001100	TEMPORARY EROSION CONTROL BLANKET	853.0	SQ YD	\$1.50	\$1,279.50	\$1.70	\$1.70	\$1.70
18	35101600	AGGREGATE BASE COURSE, TYPE B 4"	774.0	SQ YD	\$12.00	\$9,288.00	\$8.20	\$8.20	\$8.20
19	42000500	PORTLAND CEMENT CONCRETE PAVEMENT 10"	54.0	SQ YD	\$200.00	\$10,800.00	\$177.70	\$177.70	\$177.70
20	42001300	PROTECTIVE COAT	571.0	SQ YD	\$2.50	\$1,427.50	\$0.10	\$0.10	\$0.10
21	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1517.0	SQ FT	\$15.00	\$22,755.00	\$15.80	\$15.80	\$15.80
22	42400410	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH	265.0	SQ FT	\$20.00	\$5,300.00	\$18.00	\$18.00	\$18.00
23	42400800	DETECTABLE WARNINGS	140.0	SQ FT	\$40.00	\$5,600.00	\$44.00	\$44.00	\$44.00
24	44000100	PAVEMENT REMOVAL	575.0	SQ YD	\$30.00	\$17,250.00	\$22.00	\$22.00	\$22.00
25	44000500	COMBINATION CURB AND GUTTER REMOVAL	690.0	FOOT	\$13.00	\$8,970.00	\$16.50	\$16.50	\$16.50
26	44000500	SIDEWALK REMOVAL	1471.0	SQ FT	\$3.00	\$4,413.00	\$2.20	\$2.20	\$2.20
27	44003100	MEDIAN REMOVAL	858.0	SQ FT	\$5.00	\$4,290.00	\$16.50	\$16.50	\$2.20 \$16.50
28	44200966	CLASS B PATCHES, TYPE I, 10 INCH	24.0	SQ YD	\$250.00	\$6,000.00	\$871.20	\$871.20	\$871.20
29	44200900	CLASS B PATCHES, TYPE IV, 10 INCH	159.0	SQ YD	\$210.00	\$33,390.00	\$522.50	\$522.50	\$522.50
30	44200976	DOWEL BARS 1 1/2"	430.0	EACH	\$210.00	\$15,050.00	\$522.50	\$522.50	\$522.50 \$1.00
		TIE BARS 1 1/4"							
31 32	44213208 550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	430.0	EACH FOOT	\$20.00 \$80.00	\$8,600.00	\$1.00 \$251.00	\$1.00 \$251.00	\$1.00 \$251.00
33	550A0050 550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	198.0	FOOT	\$85.00	\$15,840.00	\$251.00	\$251.00	
		STORM SEWERS, CLASS A, 11FE 2 12 STORM SEWER REMOVAL 12"	14.0			\$1,190.00			\$262.80
34	55100500	STORM SEWER REMOVAL 15"	45.0	FOOT FOOT	\$25.00	\$1,125.00	\$27.50	\$27.50	\$27.50
35	55100700	PIPE DRAINS 4"	8.0		\$30.00	\$240.00	\$27.50	\$27.50	\$27.50
36	60100905	PIPE DRAINS 4 PIPE DRAINS 6"	25.0	FOOT	\$25.00	\$625.00	\$95.70	\$95.70	\$95.70
37	60100915		25.0	FOOT	\$30.00	\$750.00	\$98.30	\$98.30	\$98.30
38	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	500.0	FOOT	\$20.00	\$10,000.00	\$96.80	\$96.80	\$96.80
39	60207915	CATCH BASINS, TYPE C, TYPE 11V FRAME AND GRATE	6.0	EACH	\$2,750.00	\$16,500.00	\$5,500.00	\$5,500.00	\$5,500.00
40	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	5.0	EACH	\$4,500.00	\$22,500.00	\$4,400.00	\$4,400.00	\$4,400.00
41	60260400	INLETS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$1,750.00	\$1,750.00	\$1,100.00	\$1,100.00	\$1,100.00
42	60500060	REMOVING INLETS	4.0	EACH	\$600.00	\$2,400.00	\$550.00	\$550.00	\$550.00
44	00300000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	4.0	LACII	φυσυ.00	φ∠,400.00	φυυ.00	φυσυ.00	φυυ.00
43	60603900	(ABUTTING EXISTING PAVEMENT)	1096.0	FOOT	\$40.00	\$43,840.00	\$143.10	\$143.10	\$143.10
		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,, ,,,,	,	, ,,,,,	
44	60605100	(ABUTTING EXISTING PAVEMENT)	169.0	FOOT	\$45.00	\$7,605.00	\$151.90	\$151.90	\$151.90
45	60619600	CONCRETE MEDIAN, TYPE SB-6.12	66.0	SQ FT	\$35.00	\$2,310.00	\$145.80	\$145.80	\$145.80

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
	,	2000	Quartery	•	Unit Price	Extnd. Price	2.4		7.1.g. 2.u. 1.1.cc
46	66900200	NON-SPECIAL WASTE DISPOSAL	261.0	CU YD	\$85.00	\$22.185.00	\$214.50	\$214.50	\$214.50
47	66900530	SOIL DISPOSAL ANALYSIS	2.0	EACH	\$1,800.00	\$3,600.00	\$1,595.00	\$1,595.00	\$1,595.00
48	66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	1.0	L SUM	\$4,000.00	\$4,000.00	\$4,730.00	\$4,730.00	\$4,730.00
49	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$2,000.00	\$2,000.00	\$1,980.00	\$1,980.00	\$1,980.00
50	66901006	REGULATED SUBSTANCES MONITORING	30.0	CAL DA	\$800.00	\$24,000.00	\$1,210.00	\$1,210.00	\$1,210.00
51	67100100	MOBILIZATION	1.0	L SUM	\$85,000.00	\$85,000.00	\$122,480.00	\$122,480.00	\$122,480.00
52	70107025	CHANGEABLE MESSAGE SIGN	280.0	CAL DA	\$35.00	\$9,800.00	\$66.00	\$66.00	\$66.00
53	72400100	REMOVE SIGN PANEL ASSEMBLY - TYPE A	6.0	EACH	\$100.00	\$600.00	\$28.00	\$28.00	\$28.00
54	72400200	REMOVE SIGN PANEL ASSEMBLY - TYPE B	3.0	EACH	\$125.00	\$375.00	\$33.00	\$33.00	\$33.00
55	72400600	RELOCATE SIGN PANEL ASSEMBLY - TYPE B	2.0	EACH	\$275.00	\$550.00	\$317.00	\$317.00	\$317.00
56	72400710	RELOCATE SIGN PANEL - TYPE 1	40.0	SQ FT	\$200.00	\$8,000.00	\$34.10	\$34.10	\$34.10
57	73100100	BASE FOR TELESCOPING STEEL SIGN SUPPORT	2.0	EACH	\$200.00	\$400.00	\$204.00	\$204.00	\$204.00
0.	70100100		2.0	271011	Ψ200.00	ψ100.00	<b>\$201.00</b>	Q201.00	\$20 1.00
58	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	21.0	SQ FT	\$25.00	\$525.00	\$115.50	\$115.50	\$115.50
59	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	32.0	FOOT	\$3.25	\$104.00	\$77.00	\$77.00	\$77.00
		PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD -							
60	78004620	LINE 4"	1131.0	FOOT	\$4.50	\$5,089.50	\$8.80	\$8.80	\$8.80
64	70004620	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD - LINE 6"	455.0	гоот	<b>¢</b> E 00	<b>\$775.00</b>	£42.20	¢42.00	642.20
61	78004630	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD -	155.0	FOOT	\$5.00	\$775.00	\$13.20	\$13.20	\$13.20
62	78004635	LINE 7"	20.0	FOOT	\$6.50	\$130.00	\$16.50	\$16.50	\$16.50
OZ.	70004000	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD -	20.0	1001	ψ0.00	ψ100.00	ψ10.00	ψ10.00	ψ10.00
63	78004645	LINE 9"	57.0	FOOT	\$8.00	\$456.00	\$30.80	\$30.80	\$30.80
64	78006164	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 18"	646.0	FOOT	\$10.00	\$6,460.00	\$38.50	\$38.50	\$38.50
65	78006180	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 24"	75.0	FOOT	\$15.00	\$1,125.00	\$55.00	\$55.00	\$55.00
66	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	16.0	SQ FT	\$30.00	\$480.00	\$132.00	\$132.00	\$132.00
67	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	54.0	FOOT	\$20.00	\$1,080.00	\$22.00	\$22.00	\$22.00
68	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	2.0	FOOT	\$10.00	\$20.00	\$33.00	\$33.00	\$33.00
69	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	22.0	FOOT	\$8.00	\$176.00	\$66.00	\$66.00	\$66.00
70	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	24.0	FOOT	\$30.00	\$720.00	\$132.00	\$132.00	\$132.00
71	78011040	GROOVING FOR RECESSED PAVEMENT MARKING 8"	20.0	FOOT	\$1.00	\$20.00	\$2.20	\$2.20	\$2.20
72	78011050	GROOVING FOR RECESSED PAVEMENT MARKING 10"	57.0	FOOT	\$1.25	\$71.25	\$3.30	\$3.30	\$3.30
73	78011095	GROOVING FOR RECESSED PAVEMENT MARKING 19"	646.0	FOOT	\$2.00	\$1,292.00	\$13.80	\$13.80	\$13.80
74	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	246.0	SQ FT	\$5.00	\$1,230.00	\$16.50	\$16.50	\$16.50
75	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	4487.0	FOOT	\$30.00	\$134,610.00	\$34.20	\$34.20	\$34.20
76	81028210	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	120.0	FOOT	\$60.00	\$7,200.00	\$50.50	\$50.50	\$50.50
77	81028230	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3 1/2" DIA.	99.0	FOOT	\$70.00	\$6,930.00	\$53.70	\$53.70	\$53.70
78	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	495.0	FOOT	\$80.00	\$39,600.00	\$109.00	\$109.00	\$109.00
79	81028350	UNDERGROUND CONDUIT, PVC, 2" DIA.	50.0	FOOT	\$18.00	\$900.00	\$17.50	\$17.50	\$17.50
80	81400100	HANDHOLE	10.0	EACH	\$4,300.00	\$43,000.00	\$3,253.00	\$3,253.00	\$3,253.00
81	81400300	DOUBLE HANDHOLE	2.0	EACH	\$7,000.00	\$14,000.00	\$5,123.00	\$5,123.00	\$5,123.00
82	81702110	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 10	1838.0	FOOT	\$5.00	\$9,190.00	\$1.70	\$1.70	\$1.70
83	81702130	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 6	899.0	FOOT	\$2.00	\$1,798.00	\$2.70	\$2.70	\$2.70
84	81702140	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 4	3072.0	FOOT	\$3.50	\$10,752.00	\$3.80	\$3.80	\$3.80
85	82110007	LUMINAIRE, LED, ROADWAY, OUTPUT DESIGNATION G	4.0	EACH	\$750.00	\$3,000.00	\$1,044.30	\$1,044.30	\$1,044.30
86	84200500	REMOVAL OF LIGHTING UNIT, SALVAGE	3.0	EACH	\$900.00	\$2,700.00	\$720.00	\$720.00	\$720.00
87	84200804	REMOVAL OF POLE FOUNDATION	3.0	EACH	\$750.00	\$2,250.00	\$360.00	\$360.00	\$360.00
88	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	3.0	EACH	\$7,000.00	\$21,000.00	\$5,760.00	\$5,760.00	\$5,760.00
89	87300925	ELECTRIC CABLE IN CONDUIT, TRACER, NO. 14 1C	5411.0	FOOT	\$2.50	\$13,527.50	\$1.00	\$1.00	\$1.00
90	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	2224.0	FOOT	\$2.90	\$6,449.60	\$1.90	\$1.90	\$1.90
91	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1819.0	FOOT	\$3.00	\$5,457.00	\$2.20	\$2.20	\$2.20
92	87301245	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 5C	1350.0	FOOT	\$3.50	\$4,725.00	\$2.60	\$2.60	\$2.60
93	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	1659.0	FOOT	\$4.00	\$6,636.00	\$3.30	\$3.30	\$3.30
94	87301805	ELECTRIC CABLE IN CONDUIT, SERVICE, NO. 6 2 C	259.0	FOOT	\$12.00	\$3,108.00	\$5.70	\$5.70	\$5.70
		ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING							,
95	87301900	CONDUCTOR, NO. 6 1C	1091.0	FOOT	\$8.00	\$8,728.00	\$3.00	\$3.00	\$3.00
96	87800100	CONCRETE FOUNDATION, TYPE A	28.0	FOOT	\$400.00	\$11,200.00	\$367.80	\$367.80	\$367.80
97	87800150	CONCRETE FOUNDATION, TYPE C	4.0	FOOT	\$1,400.00	\$5,600.00	\$984.50	\$984.50	\$984.50

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			•
98	87800415	CONCRETE FOUNDATION, TYPE E 36-INCH DIAMETER	45.0	FOOT	\$500.00	\$22,500.00	\$442.50	\$442.50	\$442.50
99	87800420	CONCRETE FOUNDATION, TYPE E 42-INCH DIAMETER	21.0	FOOT	\$700.00	\$14,700.00	\$651.30	\$651.30	\$651.30
100	87900200	DRILL EXISTING HANDHOLE	2.0	EACH	\$800.00	\$1,600.00	\$1,097.00	\$1,097.00	\$1,097.00
101	88030020	SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST-ARM MOUNTED	6.0	EACH	\$1,250.00	\$7,500.00	\$1,109.00	\$1,109.00	\$1,109.00
102	88030100	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED	4.0	EACH	\$1,600.00	\$6,400.00	\$1,485.00	\$1,485.00	\$1,485.00
103	88030110	SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST-ARM MOUNTED PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH	4.0	EACH	\$1,700.00	\$6,800.00	\$1,601.00	\$1,601.00	\$1,601.00
104	88102717	COUNTDOWN TIMER	8.0	EACH	\$900.00	\$7,200.00	\$696.00	\$696.00	\$696.00
105	88200410	TRAFFIC SIGNAL BACKPLATE, LOUVERED, FORMED PLASTIC	10.0	EACH	\$300.00	\$3,000.00	\$445.00	\$445.00	\$445.00
106	88700200	LIGHT DETECTOR	2.0	EACH	\$1,800.00	\$3,600.00	\$2,093.00	\$2,093.00	\$2,093.00
107	88700300	LIGHT DETECTOR AMPLIFIER	1.0	EACH	\$3,500.00	\$3,500.00	\$4,337.00	\$4,337.00	\$4,337.00
108	89502300	REMOVE ELECTRIC CABLE FROM CONDUIT	5497.0	FOOT	\$1.00	\$5,497.00	\$0.70	\$0.70	\$0.70
109	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.0	EACH	\$1,000.00	\$1,000.00	\$2,880.00	\$2,880.00	\$2,880.00
110	LC200051	REJECTED LOAD TRANSPORTATION	1.0	LOAD	\$300.00	\$300.00	\$2,092.50	\$2.092.50	\$2.092.50
111	LC200200	TREE, SPECIAL	10.0	EACH	\$850.00	\$8,500.00	\$1,045.00	\$1,045.00	\$1,045.00
112	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	4398.0	UNIT	\$1.00	\$4,398.00	\$1.00	\$1.00	\$1.00
113	LC400182	DIAMOND GRINDING CONCRETE PAVEMENT	1335.0	SQ YD	\$30.00	\$40,050.00	\$13.20	\$13.20	\$13.20
114	LC400182 LC600032	AREA DRAIN TO BE ADJUSTED	1.0	EACH	\$250.00	\$250.00	\$1,100.00	\$1,100.00	\$1,100.00
	LC782001	GROOVING FOR RECESSED PAVEMENT MARKING 31"		FOOT					
115		FIBER OPTIC PATCH PANEL	75.0		\$3.00	\$225.00	\$27.50	\$27.50	\$27.50
116	LC800562	PRE-TERMINATED FIBER OPTIC CABLE IN CONDUIT, 12 FIBERS,	4.0	EACH	\$2,500.00	\$10,000.00	\$2,018.00	\$2,018.00	\$2,018.00
117	LC800625	SINGLE MODE	162.0	FOOT	\$15.00	\$2,430.00	\$36.50	\$36.50	\$36.50
118	LC800703	ACCESSIBLE PEDESTRIAN SIGNALS (LCDOT)	8.0	EACH	\$2,100.00	\$16,800.00	\$2,733.00	\$2,733.00	\$2,733.00
119	LC800810	SMALL FORM PLUGGABLE (SFP) FIBER OPTIC TRANSCEIVER MODULE, 100MB	1.0	EACH	\$6,000.00	\$6,000.00	\$1,999.00	\$1,999.00	\$1,999.00
		EMERGENCY VEHICLE PRIORITY SYSTEM LINE SENSOR CABLE, NO.			41,000.00	7-1,	<b>4</b> 1,000000	<b>+</b> .,	<b>+</b> 1,000100
120	X0324085	20 3/C	350.0	FOOT	\$3.00	\$1,050.00	\$1.50	\$1.50	\$1.50
121	X0324599	ROD AND CLEAN EXISTING CONDUIT	500.0	FOOT	\$2.00	\$1,000.00	\$0.20	\$0.20	\$0.20
122	X0327698	LED INTERNALLY ILLUMINATED STREET NAME SIGN	4.0	EACH	\$5,000.00	\$20,000.00	\$5,196.00	\$5,196.00	\$5,196.00
123	X1400007	FIBER OPTIC CABLE IN CONDUIT, 24 FIBERS, SINGLE MODE	6183.0	FOOT	\$4.00	\$24,732.00	\$5.20	\$5.20	\$5.20
124	X1400102	OUTDOOR RATED NETWORK CABLE	87.0	FOOT	\$6.00	\$522.00	\$4.70	\$4.70	\$4.70
125	X1400150	SERVICE INSTALLATION, GROUND MOUNTED, METERED	1.0	EACH	\$5,000.00	\$5,000.00	\$5,295.00	\$5,295.00	\$5,295.00
126	X1400215	REMOTE CONTROLLED VIDEO SYSTEM	1.0	EACH	\$8,000.00	\$8,000.00	\$5,372.00	\$5,372.00	\$5,372.00
127	X1400216	LAYER II (DATALINK) SWITCH	1.0	EACH	\$6,000.00	\$6,000.00	\$5,256.00	\$5,256.00	\$5,256.00
128	X2070304	POROUS GRANULAR EMBANKMENT (SPECIAL)	10.0	CU YD	\$50.00	\$500.00	\$143.90	\$143.90	\$143.90
129	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$45,000.00	\$45,000.00	\$25,000.00	\$25,000.00	\$25,000.00
130	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	3.0	EACH	\$100.00	\$300.00	\$2,200.00	\$2,200.00	\$2,200.00
131	X8570226	FULL-ACTUATED CONTROLLER AND TYPE IV CABINET (SPECIAL)	1.0	EACH	\$35,000.00	\$35,000.00	\$31,129.00	\$31,129.00	\$31,129.00
132	X8620250	UNINTERRUPTABLE POWER SUPPLY AND CABINET (SPECIAL)	1.0	EACH	\$9,000.00	\$9,000.00	\$9,245.00	\$9,245.00	\$9,245.00
133	X8710072	FIBER OPTIC SPLICE ENCLOSURE	4.0	EACH	\$1,500.00	\$6,000.00	\$2,224.00	\$2,224.00	\$2,224.00
134	X8750510	TRAFFIC SIGNAL POST, 10 FOOT, (SPECIAL)	3.0	EACH	\$2,500.00	\$7,500.00	\$4,118.00	\$4,118.00	\$4,118.00
134	A6730310	STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 42 FT.	3.0	EACH	\$2,500.00	\$7,500.00	\$4,110.00	\$4,110.00	φ <del>4</del> ,116.00
135	X8770135	(SPECIAL) STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 44 FT.	1.0	EACH	\$23,500.00	\$23,500.00	\$42,811.00	\$42,811.00	\$42,811.00
136	X8770139	(SPECIAL) STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 58 FT.	1.0	EACH	\$24,000.00	\$24,000.00	\$45,666.00	\$45,666.00	\$45,666.00
137	X8770158	(SPECIAL) STEEL COMBINATION MAST ARM ASSEMBLY AND POLE 40 FT.	1.0	EACH	\$24,500.00	\$24,500.00	\$66,906.00	\$66,906.00	\$66,906.00
138	X8772930	(SPECIAL)	1.0	EACH	\$30,000.00	\$30,000.00	\$45,691.00	\$45,691.00	\$45,691.00
139	X8809005	LED SIGNAL FACE, LENS COVER	14.0	EACH	\$400.00	\$5,600.00	\$502.00	\$502.00	\$502.00
140	XX005723	VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	1.0	EACH	\$40,000.00	\$40,000.00	\$29,003.00	\$29,003.00	\$29,003.00
141	XX005931	TRAFFIC SIGNAL POST, 16 FOOT, (SPECIAL)	3.0	EACH	\$3,000.00	\$9,000.00	\$4,524.00	\$4,524.00	\$4,524.00
142	XX003931 XX007092	RECESSED REFLECTIVE PAVMENT MARKER REMOVAL	2.0	EACH	\$75.00	\$150.00	\$110.00	\$110.00	\$110.00
143	Z0018911	DRILL AND GROUT #6 TIE BARS	459.0	EACH	\$15.00 \$15.00	\$6,885.00	\$1.00	\$1.00	\$1.00
143	Z0018911 Z0033028	MAINTENANCE OF LIGHTING SYSTEM	8.0	CAL MO			\$180.00	\$180.00	\$1.00
		RE-OPTIMIZE TRAFFIC SIGNAL SYSTEM LEVEL 2			\$1,000.00	\$8,000.00			
145	Z0033046		1.0	EACH	\$5,000.00	\$5,000.00	\$2,180.00	\$2,180.00	\$2,180.00
146	Z0055905	TEMPORARY CONSTRUCTION FENCE	200.0	FOOT	\$4.00	\$800.00	\$6.10	\$6.10	\$6.10